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@ x+2=-5 @ 3x-5=4x
& 2x+5=7x-8 @ 3(x+2)=0
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(1) x+5=-10 (2) x-9=-3
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x+5-5=-10-5 xr—9+9=-3+9
x=-15 xr=6
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4 -4 g *3=76x3
x=-3 x=-18
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(1) 6x—15=9 (2) 20-14=4x
6x=9+15 20—4x=14
6x=24 —2x=14
xr=4 x=-7
(3) 8xr—5=3x+15 (4) -3x+11=6a-7
8x—3x=15+5 -3x—6x=-7-11
5x=20 —-9x=-18
x=4 x=2
(5) 4+y=2y-6 (6) 20—1=24+T7x
y—2y=-6-4 20—=Tx=24+1
-y=-10 -bhx=25
y=10 x=-5
(7) 9x—1=6x+2 (8) 4x—2=-x+8
9x—6x=2+1 dr+x=8+2
3x=3 5x=10
x=1 r=2
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(1) 3(2x+4)=3-3x (2) 4wr-2(x-3)=-2
6r+12=3-3x dax—2x+6=—2
6xr+3xr=3-12 dx—2x=-2-6
9xr=-9 20=-8
x=-1 x=—4
(3) 03x—24=11x (4) %x—l=%x
(0.32x-24)x10=11xx10 1 1
3x—24=11x PR I
~8x=24 “ox4-1x4=22
x=-3 x—4=2x
—x=4
x=—4
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(1) 7:2=2:6 (2) x:(x+11)=2:13
TX6=2Xx xx13=(x+11) X2
42=2x 13x=2x+22
20=142 13x—2x=22
x=21 11x=22

x=2



